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Cluster: 0209 ptr; resid: 0.23; r/c: 21/79

x.range

upstream meme PSSM #1; e=92

1 3 5 7 91 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=340

1 3 5 7 9 11 131 3 5 7 9 11 13
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12355
12737

13361
23959

2617626975
27118

30967

32326

32531

34538

42289

46897

5236

18087

25743

36153

43428

43431

48010

52376

string −500 −400 −300 −200 −100 −1
36153NA
52376NA

5236−0.04
26176−0.18
18087−0.73
46897−1.19
12737−1.20
48010−1.47
34538−1.64
13361−1.67
42289−2.21
43428−2.61
12355−3.16
30967−3.21
43431−3.70
32531−3.89
25743−4.00
26975−4.04
23959−4.59
32326−4.62
27118−4.76

log10(P) upstream meme1 2 log10(P.clust)=−2.57; 21 seqs; 20 uniq
c(0.5, 2.5)
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